—
BARERE (A4 XHhA4TF2K) _ — 5870 _ 2
BERERE o
s % 2 45 B <
al (INY FA) =
&
- - =T
9, 600
gt 15 R 45
_— -
. . BT R :
[
[
— | >2§x *E)
BE7VILERY F7 o ABE (BRH) A e
3,000
TFUTILE Ry 72X HIB00 %E ﬁ
(HRE ) [ I p
2
&
= - s - -
BKULEBISHFEEXE L HE
LTIEZEDHDE,
| 6, 150 8,700

@ 133-%7_'_—] AP - ER ® &t £ £ A 8 IEZ R B & HEES

R EERE B2 A5 KLEEERRRIE IS $=1:200 & A —01




ENFRMEEESR 1:40

FiE BAARENGFD BHEAE
/

FREIE BHRENL2GFD HIELINT
BPL6 7 > Ah—IL FETE

XKIABEE  BENFRBEMLAK

CEHILGRX
SkSHMERATE

- $HIE SR
gh-o0OLTY—HHILED
M v +BE RFEZEY

- ARIRRE RS Y b EY

BiE HiZ2EZEY

B (BERE#HR)

&

&7 F R X MR

#ERN (BEFECHPHE#HK

B (BERE#HR)

CHP:650¢ x 1#  A#

3,000 3,215/
=n
2 (REREHD) S
o : _ )
B - 1 o // | —1 ]
A B T BARERGFD B T AARERGFD B T BARERGFD A
\ FET #5136 @150 FRET HH13¢ @150 FRT #HBH13¢0 @150 /
GHP: 660 x 660 =
<
CHP: 660 660 CHP:600% 600X 1/2 243 N I o
2000 Rt = Q
[ce]
B& FE AARENROFD «
, FRF HB#5136 @150
= 2 S 7
S 3 >
g L /
(=3 ry
= = %E o o CHP:1550 x 1550 x 1/2 35| h B zg;aggﬁgégf d oN
S| \-|-|- CHP: 1550 x 1550 x 1/2 353
L ——lk CHP: 660 x 660
B%F T BAAER26FD >
FRT BEH136 @150 /
BF FE BAHARENL2HFD
FRF #5130 @150 v Vo)
=
I CHP: 1550 x 1550 x 1/2 3531 — :
. PAN:= DN
CHP: 1550 x 1550 x 1/2 3% OHP+660 X 660
CHP: 660 x 660
,J m — m — - m — \)
]
3 B BJ
gm<ﬁﬁm£%a>*g ok .
JIBE (E%ﬁ*ﬁif%ﬁﬁx)
4,450 4,450 4,400 6,275 6, 325
/25, 900
B (BBEREHH) BE%
g5 ‘ He ‘iﬁﬁﬁ ‘ 1 ‘ tEEAQ
1TRIEFEX 100 1000
/
x* s _ N
N\ /
—u—
Y BAWMRE IS Yy YA F7HS UGS
# # H-BRERAVFMARL=1.6 R-MEEREMRA VY FMIRt =16
A5 R iRt =4.0 TH7LIHSY
® M LIR=NnYEL-ERy bEVY mitep—=K
& —BEHREHIRFOBBIVLEDRS Vb (THE)
@ 1?]-%'—.'.—] AR - EE % & ] £ A A IER ®R HESH REES
BRnaEsE Az 5K L EERERIUETE $=1:100 FmE-—1 A —02




BimE) Rk

C1:0O-100x 100 x
B1: H-250x 125X

3.2
6x9

B2: H-200x100x5.5% 8
B3:[ -200x80x7.5x11

C ) anBEssHAR

440, 440

T

B3 B3 B3 B3 B3 B3 B3
ci fci Cl

N o~

m m

| Cc1 @ C1
[aN] N
m m
Cl il C 1 ci
B3 B3 B3 B3 B3 B3 B3
A40p | L 440
4,450 4,450 4,400 6,275 6, 325
25,900
e S
2K 1:100 /%{7
@ 1%% I_'F.l AR - ERH = &t W m £ A A8 IE% HmR R & HEES
EomEsE 72 TERMEKMEERBRSIE TS §=1:100 TER-2 A —03




THRER H=150 7 5 —GLO0.6 ROE (BEFHE#HZ
24 7 L—L (BBFEREHR)

8,700

AN

4, 450

4, 450

4, 400

6,275 6,325

25,900

BHEAKE 1:100

i

=&

P FEM

#H X £ A R I%4 #ER

A2 FEMEKLEERERGIETE §=1:100

=g

HEES
A —04




(BEFRE#HR)

R KEAE (BEHR) Aim 150

R EMR H=150 H 5 —GL0.6 RTE (BIEEEHR)
24 L7 L—L (BEREHR)

135
B
5

NNANNNANANNNNNNNNNANNNNNNNN

NANNNNNNNNNNNANANNANNANNNNNNNNNANNNNNNNNANNANNNNNNNANNNANNNY

|
[\f\f\I\/\f\f\I\/\f\f\I\/\f\f\I\f\f\f\[\f\f\f\[\f\f\f\/\f\f\[\/\f\f\l\‘/\f\l

/\f\f\[\f\f\f\[\f\f\f\[\f\f\f\@l\f\[\/\f\ I\

2, 600

4,135

1,400

B VUE (BE®) %100
(R & #E%)

4,450

4,450

B (BREREHH

B (BREREHR)

4,400

6,275

6,325

25, 900

HEIEE 1:100

BHE KEAE BER) Ais150F
(R F#E#H&)

B VUE (BEE#) #2100
(BEFEREFR

B (BRRFEMEHH

B (BBERmEHR)

135

2,600

4,135

S0

=

P %

B (BRFEREHR)

] ]
N N

1,400

A\

B2 (REREHS) B (BMEHEHS B (BMEHEHS L/
8,700 8,700
JEMZEmBE 1: 100 EmEliZmBE 1: 100
BEEFEmEAE7ILE F7W00x W00 x H2000
ASUMETILIRTIZANRER
prl=] AR -ERX & &t # X # A B I%4 R E &4 HEES
@ 1;;5;;!; B2 FEEKIMEBERBRRETE §=1:100 I A —05




| (BB BN KRN GEEH) HH150E

(#&%) i EB#R H=150 H 35 —GLO.6 RTE +

g4 +7L—4 |

(BEfF) WIREIE EMEEHKIRITREE

S &D

% & L i (7K'F@

KLt

(BE7F) #FHE IEE AR50

| %) m8 VUE (EE®) E100 |
(BE#F) B4 HE/1T1000

750
[ /11’

Ik i
2E % Y

- ARBIEERARA Y RBY

XXXZZ%WVXXX%WVXXXXwU%XXXZZ

8,700

_fJ . Eﬂ A7}<‘F )
PL-6 KL kH20 — 3
(%) BHE . ZMTLOZ -HFLEOEHEY - TRFOBEHERE
\—E7200x80x7.5x11 F.D BER (B1-B2) HEHE
FHYF BEH136-150
2%Fj??; Y Eﬁz;;wFD ELELETT B2
- A BEERxELRAE
g g //71@9§& BAREI2G FD
. _ XHBEE : BNFEBELH
. £ - FHmILLR
Ag/ FHEYTE HAHREIGFD = &% 5 T RAGE
T S B R
o - BOL7Y) =4
g R4 +BiE
1 1,200 1
B ®Z2EZEY
G L
NANWANANY]
XEBERNICITHEHEMRSE (BEXT—D2Y) #8%E
/—§ BkELELETT E25
S —avsy— B
1,200
/,

P FEM

AD - ER

d X £ A R I%4

EERED AR

R

A2 FEMEKLEERERGIETE §=1:40

B 4 75

AT

HEES
A —06




